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1. fArafafad & @ sla-ar, aegt & v ged 9w dcd 76 82

o

cdelleh &l

5. faf@a & @ Fa-adt, el (oRiwge) & fadwar a8 &2
(a) BIET 9T
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(b) I (FeiHer) &T 37 g&ar
(c) AHAT 3qca=m (Fgfeehed)
(d) ITd H ™

6. SIAUHGIEHAE (§IPISE) UIeT ¢ Sl foeaifali@d # & fha Aol &1 Har

9. S AR 7 HlF-AT 377 G Ferdf &1 Irerel T Fehell 7

(a) 3icged ST (VSIeaTfoas Yfedher#)
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10. YeHT-HLAVOT fIEH dredl garT Jarel Fal & qaafas Far # aRkafda
fRar Srar §, sE 9UiERA (FeRITthel) S 9RAl & gRAT dule &l 39AIET
fAST 8rar &1 Tl & FaIRFeT &l ¢RUT e dlell UhATT Il Hia-ar &2

a) g

b) TEEEH

c) gRdeds (FeRITATES)
d) IR (FIATE)

(
(
(
(

1. Which one among the following is not a micronutrient for plants?
a) lron

)
b) Manganese
c) Magnesium

)

d) Chlorine

(
(
(
(
2. Xylem in the plants are responsible for the transport of:

3. Which one among the following hormones inhibits the growth activity
in plants?
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a) Auxins

)

b) Cytokinins

c) Abscisic acid
)

d

(
(
(
(d) Gibberellins

4. Which of the following category of biomolecules does Starch belong
to?

a) Protein

(
(b) Carbohydrate
(c) Lipid

(

d) Nucleic acid

5. Which one among the following is not a feature of Xerophytes?

a) Smaller leaves

(a)
(b) Large number of stomata
(c) Waxy cuticle

(d)

d) Stomata in pits

6. Halophytes are the plants that grow on which one, among the

following categories of soil?
a) Acidic sall

b) Saline soil

c) Black soil

(@)
(b)
()
(d)

d) Sandy sail
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7. Which one among the following is not a part of vascular bundle in
plants?

a) Phloem
(b) Xylem
(c) Cambium

(d) Endodermis

8. In which one among the following mediums would the speed of sound
be maximum?

(a) Distilled water
(b) Sea water

(c) Drinking water
(d) Methanol

9. Which organelle in animal cells can digest foreign materials?
(a) Endoplasmic reticulum
(b) Lysosome
(c) Golgi body
(d)

d) Mitochondria

10. Photosynthesis that converts light energy into chemical energy by the
plants, involves the use of green pigments of leaves called chlorophyill.
The only structure in a leaf that hosts chlorophyll is:

a) Nucleus

b) Ribosome

(@)
(b)
(c) Chloroplast
(d) Chromosome

https://www.pygonline.com




11. F=faf@a & O 59 Fass & gRegr Aead s gg 82
a) Ferar (fAFe)

b) Tl (WIH)
Steir

d) Afder A

(a)
(b)
()
(d)

12. difcass Follel & & AEAAS Dled-8 §?
(a) $5C 3t 2oC
(b) c 3 oC
() 3> 3 3 C

35 37
(d) 170 IR 170

13. frafaf@a & & frg arqg & $iERoT da 7 76 fFar arar 2
(a) |ifsTA
ORSEIERE]
(c) qrefrTs
(d) S

14. 9ICRIHA ASCE FT YA gl AT AT §

a) 3@ & &7 H

)
b) 3itwfer &

) ST%G Felled H

d) #AF 3cuel & IRTETH & & H

C

(
(
(
(
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15. AT fAATT fT dhshle AT T Tclg P M Fah 3T e A IRAT 4
g fear orar &1 oI T o e Srar 87

(@) AS & gl dTel arSHIHIUT I Uehed & [T, ST deh oh STerdiste 3
g ¥ o g S

(b) shshie HTTAT HI Yol & HUN A TGV 8ol & TaH & v

(c) Tdg W fhal Y Fasd & T & Ut & AT

(d) EFe T & IR AFar 3R e ddg g9« & fov

16. & sfeaf@a At & fov Pefaf@d su=t § @ sia-ar a&r =8 &2
(a) gT33lold H 3 FHATUTIH g gl

(b) Eiferad TESTel & Fodl H AT TIFd glel arell 3 B

(c) ARSI H TUche Solell H ST & &gl & ToIT iTFHISTT I 3UANET
forar arar g

(d) @i ARTST F Y & TUT W ASeloTd T AT & & 3uAer fHar sw
dehdT gl

17. Il & G-Il @ gafad fifv 3R gt & )y QU 7w ge w1 gaer
T TE W AT

-1 (AR &Te) -1l (T #ATH)
A. faere o 1. Qif3TA ST

B. @l &T HIsT 2. Aifsgs FEfae, 10 o
C. &l T @Er 3. hfcaad JFdFdREs
D. 9RE TelreeX 4. HHIA Hehe, el 2
9 .
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11. In which of the following colloids is the dispersing medium a liquid?

a) Mist

(

(b) Foam
(c) Jelly

(

d) Shaving cream

12. The two isotopes of elemental chlorine are :

36
17
36
18

37
18

35 37
(d) 5>C and /C

35
(a) 17C and . _C

34
(b) 5°C and JoC

35
(c) 17C and | C

13. Which one among the following metals is not stored under oil?
a) Sodium
b) Rubidium
c) Potassium

(
(
(
(d

)
)
)
) Lithium

14. Potassium nitrate is not used:

(a) as a fertilizer
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(b) in medicine
(c) in making gunpowder

(d) as a preservative of meat products

15. The surface of the concrete structure of a new construction is
covered with straw/gunny bags by wetting. This is done to :

(a) prevent fast evaporation, until hydration has proceeded well

(b) protect the concrete structure from contamination by dust particles
(c) prevent development of any fungus on the surface

(

d) give smoother and cleaner surface over cement structure

16. Which one among the following statements for the gases mentioned

below is not correct?
(a) Hydrogen has 3 isotopes.

(b) Helium is a commonly used gas in electric bulbs.

(c) Oxygen is used to burn fuel in rocket engines in spacecraft.
(d) Nitrogen can be used in gaseous form to replace air in food
packaging.

17. Match List-l with List-Il and select the correct answer using the code
given below the Lists:

List-l (Trade Name) List-Il (Chemical Name)
A. Bleaching powder 1. Sodium bicarbonate

B. Baking soda 2. Sodium carbonate, 10 water
C. Washing soda 3. Calcium oxychloride

D. Plaster of Paris 4. Calcium sulphate, % water
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A B C D
@ 3 1 2 4
b 3 2 1 4
c 4 2 1 3
d 4 1 2 3

18. FITaT@d H & HIT-AT FUF HIT & T T A& &2

(a) Iz Afelhe A FTa-TAelT I & ®T & SATAT AT ¢

(b) s @1 faMfad ga ot ser arar gl

(c) T & IfId geTATT (mass) & Mdeld W fohecadr [aefad gidr g
(d) fafdesr Tt TafIEr o Fere Tite &g g o1 dhd 2

19. T8 dra & TS quieRd # FUiRd e & fov Hefa@a & 4
Pl 3R 872

a
b

C

(@)
(b)
()
(d)

d

20. Arfof@a & O g 39T ST & e & far Jar &

a

i

b

(@)
(b)
()
(d)

d) gEsIFaliReh 3Fel
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21. TFH-X &7 39T fRar ST v §

1. frdr Al & ar aifeas Wl & g dfesa gt &1 Adeor & & o)
2. Tohecal &l TTAT T LI el & Tl |
;hﬁﬁvmagwmwwgﬁm:

(a) et
(b) Saer
(c) 1 3R 2 grr
(dyaTdar1, T8 2

22. THAFATET FSAT RO H H hlel-AT, HAgeT P Teh 3GT6L0T &7
(a) HATSHIAT 3Hiael H ATl H ITH L

(b) T TIT W T T H ST 3Tl

(c) YT H T FEHH &l

(d) e fiaer &1 B3 & T B &1 I e AR qaw A o aoaAe #
gefs T 3dellehel el

23. STe &I FeH dal A SGUAY dolol T IRECA H a1 AfAT 87

a) T & YT HI Tehol 3Idc

b) TF & YA HT UF IHidRe TIaceT

) G& & FhIer & &l 3TcAReh GTacle

d) & & TehTer 7 el AR HARE Rrace gl

(
(
(c
(
24. 3NST g T a7 & o

(a) 3icThies & FW BUA §, o foh #A&T &7 & CFC NGl & HROT gielm Bl

(b) 3ierhies & FW U &, S 6 &I &7 § Freel sE3faass 349 &
SROT gl &
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(c) 3Thiew & FW BUd §, o f #A&T &7 & CFC NGl & HROT gielm B

(d) 3mhfeeh & I FUd 8, S fh A&T §9 § FHIool SE3ieAss I &
HROT g gl

18. Which one among the following statements is not true for glass?

a) Sodium silicate is known as water glass.

(

(b) Glass is also called super cooled liquid.

(c) Crystallinity develops on cooling of the molten mass of the glass.
(

d) Coloured glasses can be made by adding different colouring
materials.

19. Which one among the following is responsible for determining the
chemical properties of an element?

a) Protons

b) Electrons

c) Neutrons

(@)
(b)
(€)
(d) Nucleus

20. Which one among the following is used in bleaching of paper?
a) Chloride
b) Chlorobenzene

c) Ammonium chloride

(@)
(b)
()
(d)

d) Hydrochloric acid

21. X-rays can be used to :

1. inspect welded joints between two metal parts of a machine.
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2. study structure of crystals.

Select the answer using the code given below:
a) 1 only
b) 2 only

c) Both 1 and 2
)

(
(
(
(

d) Neither 1 nor 2

22. Which one of the following heat transfers is an example of
convection?

(a) Heating of food in a microwave oven
(b) Boiling water in a pot on a gas stove
(c) Feeling the warmth in sun
(

d) Heating a brass rod at one end and observing the temperature rise
at the other end

23. The phenomenon of rainbow formation by water droplets involves :
(a) single refraction of sunlight

(b) one internal reflection of sunlight
(c) two internal reflections of sunlight
(d)

d) both refraction and internal reflection of sunlight

24. Ozone hole is a region over :
(a) the Antarctic caused mainly by CFC gases.

(b) the Antarctic caused mainly by carbon dioxide gas.
(c) the Arctic caused mainly by CFC gases.

(d)

d) the Arctic caused mainly by carbon dioxide gas.
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25. fTFfaf@d # & FA-7, a¥ 2023 H ARAT AR 3T oo &
TG AT 87

1. IgATA-3

2. "X fAee nfeca-L1

3. Ol YT dlfeld e

4. G FSAT aifard ke

A f&U 91T e & JANT F 3H =AU ¢

(a) haer 1 3R 2
(b) 1, 2 3R 3
(c) shadl 3 3iR 4
d) 1, 2, 3 3k 4

26. aIgIAE H Aleleh TRRT (conducting tyres) & ATSSTd el &l HoIH
3UgFd FROT faf@d § & @le-ar §?

(a) I TasTell TR & SRTeT 319elT Tdgl W AT AU Hl AdART X Tohd &
(b) & AT U @RI GYOT & HROT el HAgl T HAT AU T HART
dehd ©

(c) T 33T & GRIA Fs IHaAel & YTl & HRUT JUsT TGl 9T HiOd 3Taer
FI AR HT THhd &

(d) STHIET W IacRUT & HHY THiclar &l Ashed & T

27. SRIGIE™E (presbyopia) & Nfsa cafFaar & fov Arfaf@d & & =id-
qT/&lT-8 YT Tl o/e?

1. 9 T & 3FaX AT A 9id|
2. SRICIE®E HAIT: 3H d6a1 & Y 3T gl ol
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3. 3 AT @ SIABIRET o Ygad & TorgH 3fadd 3R 3de el ofF gid g I
AT o g B
A feU aTT FHe N FANT F IR AT ¢

28. 300 Hz &1 3mgfd arel Teh &afel olaT Teh 37ATT HATEIH H ITHA HT T
g1 gl TRIAGET AT LT &1 Tg t AT H 3Tl TRaeed & 150 =1 &
S gt T &Yl §l t &7 AT &1 §7?

29. 9RA &1 A afFa (DRDO) eafaf@aa & & fraw gafaa &2
a) Tehel Iehe HT 3TANT HIch Sgel ITIGT HT F&TIUT

b) XY 39rgr T J&gor

) 3YABT & FEIIUT H 3T QAfeFd Jchel HI 39T

d) fFdr 9T Fa I 3YUE F €T T & AT Jahe T 39AET

C

(
(
(
(

30. gF-gzdr yomel #, g, g 3R oI foig L4 S &

(a) Tsh Hch\jEldlg EE

(b) T FHETE EEE)
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(c) Teh el @1
(d)w%wa@ﬁragsr

25. Which of the following are the major missions of Indian Space
Research Organization in 20237

1. Chandrayaan-3

2. Solar Mission Aditya-L1

3. Liquid fuel powered rockets

4. Solar powered rockets

Select the answer using the code given below:
(@) 1 and 2 only

(b) 1, 2 and 3

(c) 3 and 4 only

(d) 1, 2, 3 and 4

26. Which one of the following is the most appropriate reason for aircraft
being equipped with conducting tyres?

(@) They can transfer the charge accumulated on their surfaces during
lightning

(b) They can transfer the charge accumulated on their surfaces being
rubbed by air particles

(c) They can transfer the charge accumulated on their surfaces due to
inflight operation of several gadgets

(d) For preventing sparks while they land on the ground

27. Which of the following statements for persons suffering from
presbyopia is/are correct?
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1. They cannot distinguish colours.
2. It usually develops with ageing.

3. They wear either bi-focal lenses consisting of both concave and
convex lenses or progressive lenses.

Select the answer using the code given below:
a) 1 only

(

(b) 2 only
(c) 1 and 3
(

d) 2 and 3

28. A sound wave having frequency of 300 Hz is travelling in an
unknown medium. Its wavelength is not known. It travels a distance
equal to 150 times its wavelength in time t. The value of t is:

(@) 0.5 s
(b) 1s
(c) 1.5 s
(d)

d) 2 s

29. Mission Shakti (DRDO) of India is related to which one among the

following? https://www.pyqgonline.com
(a) Launch of multiple satellites using a single rocket
(b) Launch of heavy satellites

(c) Use of high power rockets in launching of satellites
(d)

Use of rocket to destroy an orbiting satellite

30. In Sun-Earth system, the Sun, the Earth and the Lagrange point L4
form:
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(a) an isosceles triangle
(b) an equilateral triangle
(c) a straight line

(d)

d) a scalene triangle

31. &l & Il & gafad Hifew iR giaat & 1 QU 7w e @1 gaeT
T TE 3N AT ¢

-1 (FRA&TOT HEAT) -1l (1)
A. TSI HIAT osh, ITcgeT R AR | 1. AGY
STl e 3TRIGHT

B. ¥Tel SgIey eMEAT (LBS) ISery 2. e
YTHT 3TRICHT

C. TS AWIRIET AT oWl HhreHT | 3. HFeS

D. 3ifer 3T S¥IgT 3% elished 4. UTTaHAGH

S

et ITeiHT
<'=I;\>_c," :

A B C D
@ 3 2 1 4
b) 3 1 2 4
c 4 1 2 3
d 4 2 1 3

32. e @d Sy« W JaR HifSv :
1. AR 1T afgar o 's1s1 fgar-9Ra &1 3ifshaAuT fohar (TumeT o foram)|

2. R &7 TST YIS 3MH & TR Ud R@g-taq1-iy I 3efer Far
IR g
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3UGFT H ¥ FIA-A/HA-H HAT TE /e ?
(@) haer
(b) haer
(c) 1 3R 2 g=r
(dyaTdar1, T8 2

33. Aafof@a & @ Fia-ar, gag =¥ag W T~ AT & Qvera &t
H afAor =g &7

34. AeAfaiEd & & ®l9-0, dRAT [AfT a7 & g &7

1. gfaus & gfasefidd g Hea 3R Aeura

2. HWTYUROT &lelel GaRT Yo e 3R afica

3. WifauTisleh ARGl & 3cded ISR 3R aR—cal @I yafdd = & fou

HITSsITcHh cTIEY]
4. (s IR =Re =g
e feU aTT e N JANT A IR AT ¢
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35. Sfiad ATH FRAHA (ASsic Tdelsl IEITH) & 368t & JaY H fArafaildd
H T HI9-91 U7 TET g ?

(a) Ig UF Fg yrAfST AT gl

(b) 3T HAKHA BT IR 2021 & fhar arar 2|

(c) 3reuTraer yeer, [@fFsha 3R AR 6 A & 3t g4 1T T7 ¢l
(d)

(

d) SqTel T WAT F o 3R 9CRM & AAT H 3H Aol & el 5q@
FITTRIY) AT & § & AT I g

31. Match List-I with List-Il and select the correct answer using the code
given below the Lists:

List-l (Training Institute) List-Il (Location)

A. National Academy of Customs, 1. Mussoorie
Indirect Taxes and Narcotics

B. LBS National Academy of 2. Shimla

Administration

C. National Academy of Audit and |3. Mumbai
Accounts

D. All India Institute of Local Self 4. Palasamudram

Government
Code:

A B C D
@ 3 2 1 4
(b) 3 1 2 4
(c) 4 1 2 3
d 4 2 1 3
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32. Consider the following statements:
1. The Flag Code of India superseded the 'Flag Code-India'.

2. The state emblem of India is an adaptation of the Lion Capital of
Ashoka at Sarnath.

Which of the statements given above is/are correct?
a) 1 only

(

(b) 2 only
(c) Both 1 and 2
(

d) Neither 1 nor 2

33. Which one of the following is not among the thematic areas of

National Mission on Sustainable Habitat?
(a) Energy and Green Building
(b) Mobility and Air Quality

(c) Waste Management

(d)

Rural Planning, Green cover and Biodiversity

34. Which of the following are the components of the Indian Legal
System?

1. Basic values and principles enshrined in the Constitution
2. Rights and obligations conferred by ordinary statutes

3. Organizational set-up to enforce rights and obligations within the
constitutional norms

4. Legal and judicial persons
Select the answer using the code given below:

(@) 1, 2, 3 and 4
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(b) 1, 2 and 4 only
(c) 1, 2 and 3 only
(d) 3 and 4 only

35. Which one among the following statements about the objectives of
Vibrant Village Programme is correct?

(a) It is a Centrally sponsored scheme.
(b) This programme was launched in 2021.

(c) Arunachal Pradesh, Sikkim and Manipur are the states selected under
this scheme.

(d) Villages of Uttar Pradesh along the Nepal border are selected as
flagship villages under this scheme.

36. fefafEd 7 & fhg TgFd TSg (UN) T &l Aldel [RER 4
TFATTAT AT fehar arm § 2

a) WFP

b) ILO

c) UNESCO

(@)
(b)
()
(d)

d) UNHCR

37. F=fof@a & @ &g a3 = aeiRear (@) s, 2019 &
e ¥ e & TS 82
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38. TAFIlafed & ¥ fohesl &gt a1 T '=arquT §ATST 98 |A &, o
RER FFAA HT el g5 g AR H9AT B gech g5 e Ao veh
HEUT F N AT T AT HT?

39. fFATIf@d # @ wia-AT/aHlA-8 HUT T /87
1. €3 T 99 &7 @ $RA & HiGU $ ToF T & 3T T fawa g

2. Tafaer gfshar fgar ¥RA & Aidue $r FHadr g & 31l anfaer gl
A fQU 91T e 1 9ANT F 3R @A ¢

40. HRT 3R UIfREdT & & & Ffafld @@siial 1 wremeha &
3TAR Fafeyd HIfSAT

1. drerhe gvom

2. T8y STer |iE

3. Th-gE & WA fasarat 3R Gt T gHeT Al el TR FASIAT
4. WAT] EfAART F TS qEEAT Hr A FA T W FAGAA

A f&T 91T e &1 JANT I 3R =AU ¢

@ 1, 2, 3,4

(b) 2, 3,1, 4
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(c) 2,1,3, 4
d) 1, 4, 2,3

41. QUETg I IS (SCO) & TaY H AFATaf@d H & Hia-Ar/amla-a
FYT AT 8/e?

1. SCO #r nfarier s & 3R A= €1

2. SCO &I HJFA ST FAETHAT H Y&TeH &I Goll uIed

3. SCO H 13 WG &2 MA g

A f&U 91T e & JANT F 3R =AU ¢

42. [T FRAS HEA-d FAT g7
a) Far e I g & 3efeT v o

)
b) Jad AT T TH FHTT

) afRge g MYt IR 3Tcdehare & faa-qwoT &7 fgavedr
d) HgeFd TSC HSCAR-foIereh Told

C

(
(
(
(

36. Which one of the following UN organizations has not been awarded
the Nobel Prize?

a) WFP

b) ILO

c) UNESCO

(a)
(b)
(c)
(d) UNHCR
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37. Which of the following areas has been exempted from the purview of
the Citizenship (Amendment) Act, 2019?

a) Ladakh

b) Jammu and Kashmir

c) The Sixth Schedule Areas

(@)
(b)
(c)
(d) The Fifth Schedule Areas

38. Who among the following stated that 'A just society is that society in
which ascending sense of reverence and descending sense of contempt
is dissolved into the creation of a compassionate society'?

(a) Vinoba Bhave

(b) Bhimrao Ramji Ambedkar
(c) Rammanohar Lohia
(

d) Jayaprakash Narayan

39. Which of the following statements is/are correct?

1. Criminal law is exclusively a subject under the State List of the
Constitution of India.

2. Code of Civil Procedure falls under the Concurrent List of the
Constitution of India.

Select the answer using the code given below:

a) 1 only

)

b) 2 only

c) Both 1 and 2
)

(
(
(
(

d) Neither 1 nor 2
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40. Arrange the following agreements between India and Pakistan in
chronological order:

1. Tashkent Declaration
2. Indus Water Treaty

3. Agreement on the Prohibition of Attack Against Each Other's Nuclear
Installations and Facilities

4. Agreement on Reducing the Risk from Accidents Relating to Nuclear
Weapons

Select the answer using the code given below:
(@) 1, 2, 3, 4
(b) 2, 3, 1, 4
(c) 2,1, 3,4
d) 1, 4, 2, 3

41. Which of the following statements with regard to the Shanghai
Cooperation Organization (SCO) is/are correct?

1. The official languages of the SCO are Russian and Chinese.
2. The SCO enjoys observer status in the UN General Assembly.
3. The SCO consists of 13 member states.

Select the answer using the code given below :

a) 1 only
1 and 2

C

d

(a)
(b) 1 and 3
(c)
(d) 2 and 3

42. Financial Action Task Force is:
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a) A wing under the Central Economic Intelligence Bureau
b) A division of Enforcement Directorate

(a)
(b)
(c) A global money laundering and terrorist financing watchdog
(d)

d) A UN Anti-Corruption Agency

43. fArfaf@d & & g AH # TYFd TS FAGTHST & FHLT W T
JEATT W 3URAT FeFat & al-fAeTs TgAd IR AGE T ATRISAT gl &?

1. §gaFd TS # AT HEHAT AT JaAq

2. TIET 9Rve & HEUR Fedt &1 faare

3. ¥ Td AHANSG IR & HeEdl Hr foarast
A f&U 91T e & JANT I 3H =AU ¢

44. AR WHR GaRT 'HRA 9 H JAS Hrafaf@a & @ o sdswal &
alRTeT foram s/ am?

1. roTdy fgad 2024

2. TSET fhed AglcHa 2024

3. @1l fhed Hglcad 2024

e feU aTT e N JANT A IR AT ¢
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45, RAFATATET H ¥ 5T Ted F ARAT &g Ifgar &1 orT 377 A
HfIfASaT 1 R & Ioaad FaEed J getdr & €7

46. XA & FIAU & 36Tede 3718 & @R, [ARA ToT & gau &
faQy 3user fhu 710 | dEIaR, T8e &1 HIg AAATH AARA T6T W d9
deh o AT 8N 519 dsh [AGRA TsT Fr faens T Ahed carT odr
faforeea g L §1 el & & sia-ar favg 33 e & e
AT G &2

(a) AT ae fr enfde ar gefee gad

(b) T Feaea fater 3R gfshar

(c) RAafaer 3k cifsw =T gemaa, S| gy e wfesea [T &
3TER Bl §

(d) Srepfdier HETHAT T FTAca 3T 3Ha”or

47. Fa= dieafadhr sfafags, 2000 & qaR fFEfaf@a & @ Sia-avale-
T YT TEr g/g ?

1. g8 yAfFTw 3uey Far § & soaciae Reas (Rea=R) grafaf@d
gTAleR T g & o= g

2. g WHR IR TSI TWEHR il F Selaciad Redd ({eawr) & & &
o sa 7 afed v T I g

A feU AT FHe @ FANT F IR AT ¢
(a) Fae 1
(b) Faer 2
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(c) 1 3R 2 a=t
(dyaTdar1, T8 2

43. In which of the following matters placed before the UN General
Assembly, a resolution by two-thirds majority of the members present
and voting is required?

1. Admission of new members to the UN

2. Election of the non-permanent members of the Security Council
3. Election of members of the Economic and Social Council
Select the answer using the code given below :

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3

44. ‘Bharat Parv' was organized by the Government of India during
which of the following programmes?

1. Republic Day 2024

2. National Film Festival 2024

3. Cannes Film Festival 2024

Select the answer using the code given below :

a

1 and 2 only

(a)

(b) 2 and 3 only
(c) 1 and 3 only
(d)

d 1, 2 and 3
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45. Which one of the following organizations challenged the
constitutionality of Section 377 of the Indian Penal Code in the Supreme

Court of India?
a) Naz Foundation (India) Trust
b) Bachpan Bachao Andolan

c) Sambhav Foundation India
)

(
(
(
(d) ActionAid India

46. As per Article 371G of the Constitution of India, special provisions
have been made with respect to the state of Mizoram. Accordingly, no
Act of Parliament shall apply on certain matters unless the Legislative
Assembly of Mizoram so decides by a resolution. Which one of the
following matters is not covered under this Article?

(a) Religious or social practices of the Mizos
(b) Mizo customary law and procedure

(c) Administration of civil and criminal justice involving decisions
according to Mizo customary law

(d) Ownership and transfer of natural resources

47. Which of the following statements, as per the Information Technology
Act, 2000, is/are correct?

1. This Act provides that electronic signature is legally valid in the same
manner as the handwritten signature.

2. Both the Central Government and State Governments have been
given the power to make rules with respect to electronic signature.

Select the answer using the code given below:

(@) 1 only
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(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

48. TS Hdl Tl & ey # Aeafaf@d & @ Si9-a1 a7 T & 2

(a) Tg AT AT W (CET) JAifaid et drell Uah [HerT § St
WHR & 'Jg T AR @A T & Haed RiFaar & v gt fr oaa=-
e G IS

(b) T3l orat, Ay &7 & 117 3wl fSet & F6h &7 & AsemR & sgrar
fear arar gl

(C) SHHAT TAYAT 2014 H Fr 315 7|
(d) 38 2021 # @ifaue gar fear = gl

49. 3TEUT 3fAhed Td AT Hilos fefaf@d & 4 ford HaroeT 1
3TaY vd fawra (R&D) fAer §7

50. - & -l & gAfad Hifew iR gat & @ Qe v e # g
T TE W @AV

G-I (clleh |HT 3TEET) g-1l (Ferafa)
A. HAGT IToiaded et - 1. 1437 olieh AT
B. AIHATY Tl 2. 134t &reh g1
C. #RT AR - 3. 16dT oller g
D. G Agretel 4. 1547 e @
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A B C D
@ 2 1 3
b 2 4 1 3
c 3 4 1 2
d 3 1 4 2

51. deid g & oY H Fdfeliad sd«ar W faar HfTw:
1. AT 3edd deid & FEATes |

2. AT ¢@RT gdd &2el I faedRYds J&d foham arm
3RFT # @ Sld-Ar/mla-8 HYT TEr 8/8 ?

52. Wl & HEY cUI9eh YA I TRET AT [TeR0T el &l 0 fhdesh ganT
foram arr ar ?

a) 1919 # &g w7 FfAfd garr

1921 # 3@ HRAT *i9d FiAfT garr
IS AT & YN H AGICAT IMMel garT

d) 1947 # 3@ HRAT Higw FATT garT

b

(@)
(b)
()
(d)

53. FIdG H 3T (cereals) o T foheT eregl &1 99T foham =T 8?2
(a) e 3R Afg
(b) T 3R a=g
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(c) faer 3R @ar
(d) Ty 3R 2arATR

48. Which of the following statements about National Recruitment Agency
is correct?

(@) It is a body to conduct Common Eligibility Test (CET) to shortlist the
candidates for vacancies under 'Group B' and 'Group C' of the
Government.

(b) Employment in private sector is facilitated in all the districts,
particularly 117 aspirational districts.

(c) It was set up in 2014.

(d) It has been accorded Constitutional status in 2021.

49. The Research Design and Standards Organization is the R&D wing

of which one of the following organizations? https://www.pyqgonline.com
(a) Bhabha Atomic Research Centre
(b) Indian Space Research Organization

(c) Indian Railways

(d) Defence Research and Development Organization

50. Match List-I with List-Il and select the correct answer using the code
given below the Lists:

List-l (Speaker of Lok Sabha) List-1l (Tenure)
A. Manohar Gajanan Joshi - 1. 14th Lok Sabha
B. Somnath Chatterjee - 2. 13th Lok Sabha
C. Meira Kumar - 3. 16th Lok Sabha
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D. Sumitra Mahajan - 4. 15th Lok Sabha

Code:

A B C D
(@) 2 1 3
b) 2 4 1 3
(co 3 4 1 2
(d 3 1 4 2

51. Consider the following statements about the Vedanta philosophy:
1. Shankara was the founder of Advaita Vedanta.

2. The philosophy of Dvaita was elaborated by Madhva.

Which of the statements given above is/are correct?

a) 1 only
b) 2 only

d

(@)
(b)
(c) Both 1 and 2
(d) Neither 1 nor 2

52. The distribution of charkhas on a wide scale among the people was

decided by:

a) Congress Working Committee in 1919
b) All India Congress Committee in 1921
c) Mahatma Gandhi at the start of Dandi March
)

(
(
(
(d) All India Congress Committee in 1947

53. The terms used for cereals in the Rig Veda are:
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a) Godhuma and Vrihi

(@)
(b) Yava and Dhanya

(c) Tila and Khala

(d) Priyangu and Shyamaka

54. 18dT erdredl & #Rd H fawamsit &1 feufa & d9y # Heafaf@d sys
W TR Hifav

1. 3T (Amber) & IS Farg 5/ &g o faear qafdarg & deqried fhan
2. ST VAT (STellel) RRRHA 13 o faear goAfaarg sl Nearged fanar|
3. TST UH AgT T & T w2r 1 [oer Fam|

3RFT # @ dled-8 HYUA T 8 ?

55. Trareir & wemafaes 3™t & a9 H FAeaei@d U« W aar fifaw:

1. e & TeAAYS & FAY 3¢ G (31S AN I ATl Sl QW
forr rr ar 3R FafEe w9 ¥ afenia Ay i st afed s aifva
R a=m am|

2. fars A gerafas gatesl & for SREA & T W AASE A o] fhar
3R &R & RS Ase; TS|

3T & A FlA-F/HIA-T HUT FET /8 ?
(a) Saer 1

(b) Saer 2

(c) 1 3R 2 gmr
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(d) sTar 1, sTgr2

56. AT H ALIYTYIUT &hell & T H, Aroi@d 2« W TR fifaw

1. TolFoisy 98 o 3aT UeLT & Jigriare § AR & 9uH Odd R=Fr & @
$r oY)

2. aﬂﬂéﬁ@)ﬁ%ﬁﬁ@awmgm RIcfeadal d1.Td. drehvTeht &
TSl & FTREAT AT AT HIA U e A fWshr & A q@ 3R 38 Tel
FT AVl T & Tl [Fehedd Io0d TEUT W 3T T

3. 331 &1 Aol Fem A DT 3R 3RV T & domsg 7 agTAT 8 g
3T & I HiA-A/HA-G HUT FET &1 87

54. Consider the following statements about the condition of widows in
the 18" century India :

1. Raja Sawai Jai Singh of Amber promoted widow remarriage.
2. Maratha General Parshuram Bhau promoted widow remarriage.

3. Raja Ram Mohan Roy opposed Sati.
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Which of the statements given above are correct?

a) 1 and 2 only

b) 1 and 3 only

c) 2 and 3 only

(
(
(
(d) 1, 2 and 3

)
)
)
d)

55. Consider the following statements about the administrative measures
of Shivaji :
1. The scheme of Ashta Pradhan (eight ministers) was completed and

announced at the time of Shivaji's coronation with regulations and duties
properly defined.

2. Shivaji introduced Marathi in place of Persian and coined Sanskrit
technical terms for administrative purposes. https://www.pygonline.com

Which of the statements given above is/are correct?

a) 1 only

)

b) 2 only

c) Both 1 and 2
)

(
(
(
(

d) Neither 1 nor 2

56. With reference to the Mesolithic art in India, consider the following
statements:

1. Alexander Burns discovered the first rock paintings in India at
Sohagighat in Uttar Pradesh.

2. Bhimbetka rock paintings were discovered when archaeologist V.S.
Wakankar noticed the rocks out of a train window while travelling from
Bhopal to Itarsi and got off at the nearest railway station to explore the
site.
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3. The paintings and engravings do not exist in the same shelter in the
rock art of Orissa.

Which of the statements given above is/are correct?
a) 1 only

(

(b) 2 only
(c) 2 and 3
(

d) 1 and 2

57. In the decoration of Stupas, what does the term 'Kinjalkini' refer to?
(a) Creepers showing ornaments textiles and

(b) Scarves and saris

(c) Mango shaped pendants

(

d) A garland of thousand lotus flowers

58. TF=ifali@d & & FiA-AT/FRIA-8, TRATYT FIT "[bg-" & g gk g7
1. AFE (FAH-TTSE) AT ol YBTRR TcleT

2. g MY $maT- Mo (3rea) St el o gaR & 3ol &
Mo &

3. %ﬁﬁm(mw)és;hﬁﬁ%ﬂgésﬁd@%ﬁ
A fQU 910 e &1 JANT F 3R =AU
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59. HIRA $I FaIFAT AT fGer & W RArafaf@a geast w faar fifav
1. IGAF FHSIAT

2. gHIY g S T HRA arqd 377l

3. fohew fARMT

4. 9iFg 7 ARFw fage

A fQU 910 e # 4, 57 U3 & HIoAlhd (FaH Ygol @ FdleTcH ofeh)
FI AT

(@) 4, 3, 2, 1
(b) 3, 4, 2, 1
()1, 2 3,4
d) 2, 1, 3, 4

60. fA=ITf@d & @ @led, HEIhI H U UTJ-Gells HiAell & AT gfdey
¥ 3R 3cpse AIgeR dgal H g X ¥ ?

a

b

14

(a) #TST
(b)
()
(d)

d

61. TRa 7 wrhe g arg-afaanstt & deu 7§ PF=faf@a Fue | e
HITAT

1. dlel &lel el T Hiclhorl & Hled AR Teheliehl Hierer & faw guidey
gl

2. el arq-gfaanst i gfdarfaear 3R Ao, Aa-ufdamsd v gidariaear AR
el & FATT AT

ST 3 BT BT T 2
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a
b
1 3R 2 gt
dTart, a2

(a) Sad
(b) Sael
()
(d)

62. SI. S.3R. FASHT R 4 de, 1948 &I Y&dd fhU 71T yrEq Ffqerms
H Tat & fov Arafaf@a & @ Fa ug (term) &1 gdter foeam arar a1 2
(a) T=ar &1 T (Union of States)

(b) T=AT FT 9T (Federation of States)
(c) TIUTT TSI (Autonomous States)

(d) "ergeh =T (Subsidiary States)

63. 30T T IRUT § 8 AN Sl A 9 garT ugAT SArdr A1l Ig:
a) %mTwaﬂamwﬁmmgmmml

b) T Fhelm g3m aRere fore# et aren 39RE@T (tunic) &IaT 2T|

c) a9y ¥ & ARG 2@rT gFd AT 3maRoT U7

d) 93 T gcfeal & T AT {eR TART IR™T dUT FFAX I SR T e
STeT aTell 95 27|

(
(
(
(

58. Which of the following is/are the correct components of the "Lion
Capital" at Sarnath?

1. The shaft (stambha-yashti) or the tall tapering column
2. An elliptical top part devoid of any carvings the abacus,
3. Overflowing inverted petals below the abacus

Select the answer using the code given below :
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a) 1 only

b) 1 and 3 only

c) 2 and 3 only

(
(
(
(d) 1, 2 and 3

)
)
)
d)

59. Consider the following events leading to the Indian Independence:
1. Lucknow Pact

2. Return of Subhash Chandra Bose to India

3. Cripps Mission

4. Naval Mutiny in Bombay

Select the chronological sequence of these events (earliest to latest)
from the code given below:

a) 4, 3, 2, 1

b) 3, 4, 2, 1

c)1,2 3,4

(@)
(b)
(c)
(d) 2, 1,3, 4

60. Who among the following were famous for their metal-casting skills
and used to cast excellent matchlocks during the medieval period?

a) Marathas

)

b) Rajputs

c) Ahoms
)

(
(
(
(

d) Gonds

61. Consider the following statements about the Ancient Hindu metal
images in India:
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1. The Chola period is well known for the aesthetic and technical finesse
of its metal sculpture.

2. The iconography and style of Chola metal images were similar to
those of their stone counterparts.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

62. Which one of the following terms was used for the States in the
Draft Constitution presented by Dr. B.R. Ambedkar on 4™ November,
19487

a) Union of States

b) Federation of States

c) Autonomous States

(@)
(b)
()
(d)

d) Subsidiary States

63. The antariya was a garment worn by people during the Mauryan
period. It was:

(a) an unstitched length of cloth draped around the body.
(b) a sewn garment consisting of a sleeved tunic.

(c) a head covering used exclusively by women.
(d)

d) made of strips sewn together tied at the waist with a cord.

64. HIHR F 3T TIIY & T A, Rafai@d s« W Jar fifav

https://www.pygonline.com




1. GEATh 3dTaddded o 9T FolT bl 9T J3it & 3Nk 3cUT & fov
AT |

2. FHAR A afdadleT HI AMHTHIA, 3edeh HA AT & 3T fohr 1w
ol At & fav gfdcy g, oras aRuTATawT @iedlest & 3cdigd
IATEF i g9 3R HAT FA g5

3T A A HlA-A/IA-H HUT FET /8 ?

65. A YA & 3= el 3R Faftd faamn & fAefaf@d goar W faur
$ifaT

1. GATE : ATT Tl HaAgehel!

2. glaier : @1 9HqE

3. 37&T9col : AfHIG-Tg-T@rIrer IRy
4. GTAYUTET : SINTeTey

3T & ¥ HlA-8 JoH FE AT § 2
a) dad 1 3R 2

b) &aer 1, 3 3iR 4

) dhaer 3 3R 4

d 1,2 33K 4

C

(
(
(
(

66. G STl dis Selgiol GaRNT fohd HTHTST &1 Ut 38§ ®9 H for arm
¢ T "Th 9O ST U f&aT gAR &1 He & 3T fRam A cherry that will

drop into our mouth one day)"?
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a) feeelr
b) 31atr
.
d) Jarfer}

(@)
(b)
()
(d)

67. AR H S0l & T #H, Tfaf@d ®y«ar | fGar fifSw:
1. 1872 & Ugoll AW AR STIUTAT el hl AT Tohdm aram 2|
2. 1881 ¥, r@I¥& STl fAafAd & & &r o1 WET £

3RFT # @ SlT-A1/ml-8 HUFT T 81 & ?

68. FAfaf@a A @ HIT-Tl/RA-T FUT T g/e?

1. 1931 # dlgeT # TS G TNeHST FFHelel & aNie, ffeer T o
TIAAAT & ToIT FeTed Tsgardl Al & THR e & FAT Y &2

2. 1932 # AR &I SfAfATST g (Feed) Y frar arar |

3. aIEY Wis fafolTss o HA & WY FoIg @l A H MR T
4. WA 3T JiaTeled N YT FAHF Hlofed aﬁaﬁsﬁﬁg‘é’zﬁl

e feU aTT e N JANT A IR AT ¢
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64. Consider the following statements with reference to the Utpala
dynasty of Kashmir:

1. Avantivarman, the founder, devoted his energies to the economic
upliftment of his subjects.

2. Avantivarman's period in Kashmir is known for the engineering
operations under his minister Suyya, resulting in the enormous increase
of grains and fall in prices.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

65. Consider the following pairs of High Offices and concerned
Departments in the Mauryan Administration :

1. Samahartri : Chief Collector of Revenue

2. Dauvarika : Chief of Army

3. Akshapatala : Records-cum-Audit Officer

4. Samnidhatri : Treasurer

Which of the pairs given above are correctly matched?

a) 1 and 2 only
b) 1, 3 and 4 only

(@)
(b)
(c) 3 and 4 only
(d) 1, 2, 3 and 4
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66. Which kingdom was described by Governor-General Lord Dalhousie

as "A cherry that will drop into our mouth one day"?
a) Delhi
b) Awadh

c) Jhansi

(a)
(b)
(c)
(d) Gwalior

67. Consider the following statements with reference to Census in India:
1. The first All India Census was attempted in 1872.

2. From 1881, decennial censuses became a regular feature.

Which of the statements given above is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(

d) Neither 1 nor 2

68. Which of the following statements is/are correct?

1. During the Second Round Table Conference held in London in 1931,
the British Government refused to accept the basic nationalist demand
for freedom. https://www.pyqonline.com

2. India was granted dominion status in 1932.

3. Viceroy Lord Willingdon adopted a policy of reconciliation with
Congress.

4. The Civil Disobedience Movement was started with the breaking of
salt laws.

Select the answer using the code given below :
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a) 2 and 3 only

)

b) 4 only

c) 1 and 4 only
)

(
(
(
(d) 1, 2 and 4

69. Ffdaic fAT & Ty #H, ArIfaf@a A @ -8 FuyT T g7

1. 38 &A1 & EACROT §d AR A3 & ardl ¥ & AT 1946 H 7R
HST I AT AT

2. 38 &Y TR & SEH 3T HT FAHR P §U GA-FaT HE
TISTT T JEAT QT

3. 39 IdId TET shg & FIU-1, vidi 3R TSAT T T GG glar 27|

4. 3Hh 3T ITClT-31eT Wiclh ol &1 HG Folled &l IHefAfaT & 75 o
fSHd 3 RER FASIAT & 3T $o& ATFAA T 3HITIT T Feohd I

A fQU 91T e 1 JANT X 3R @A ¢

70. fAmfaf@d oAt ) faar Hifaw:

1. ITS9fd - 3041 & QAT TSTar &1 AT
2. 31e9ufd - gFhod & ool

3. AW - [TITR & TT

3T & F FiA-AT/HA-8 JIA TG GATIT B8 ?
(a) Faer 1

(b) Faer 2
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() 1,2 3Rk 3
(d) 3uderd H § @IS AL

71. fedATerdy fgaatfeat (Tl 3R 3ah safeafa & Arafafad oot &
T FlT-A/HIT-T T AT &/67?

1. fafRe - o ardy e

2. IR - FHATS-IGdTe &

3. SIF AT - AT &1

4. IMSH - 4R GSiTel Aol

A f&U 91T e & JANT F 3H WA ¢

72. ARG & AfGAT & Gy H, AR Sy W AR fifew

1. AYAT 6 JAG URT, Sk AT, ALTT Sl Ggifsdl & Ahorch &

2. HIIR AT WHg H aAIed o gl ATETT & HIEYS H oo gl el g
3. IR¥ARY 3R AGH, SEAYS HI HAgea Ul HeTds HAGdl ol

39Fd A FiA-A/HA-8 FAT T 8/ ?
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69. Which of the following statements about Cabinet Mission are correct?

1. It was sent to India in 1946 to negotiate the transfer of power with
the Indian leaders.

2. It proposed a two-tiered federal plan while conceding the largest
measure of regional autonomy.

3. There was to be a federation of provinces and states, alongside a
federal centre.

4. The individual provinces were allowed to form regional unions to

which they could surrender some of their powers by mutual agreement.
Select the answer using the code given below:

(@) 1 and 3 only

(b) 1, 2 and 4 only

(c) 2, 3 and 4 only

(d) 1, 2, 3 and 4

70. Consider the following pairs:

1. Gajapati - Name of a powerful Dynasty in Orissa
2. Ashvapati - Deccan Sultans

3. Narapati - Rayas of Vijayanagara

Which of the above pairs is/are correctly matched?

a) 1 only
b) 2 only
c) 1, 2 and 3
)

d) None of the above

(
(
(
(
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71. Which of the following pairs of Himalayan Glaciers and their location
is/are correctly matched?

1. Siachen - Nubra Valley Region

2. Chungphar - Kumaon-Garhwal Region

3. Zemu - Central Nepal Region

4. Gasherbrum - Pir Panjal Range

Select the answer using the code given below :
(@) 1 only
(b) 1 and 2
(c) 2 and 3
(d) 3 and 4

72. Consider the following statements regarding the rivers of India:

1. The Barak River, the head stream of the Meghna, rises in the hills of
Meghalaya.

2. The Ghaggar River does not drain out to the sea and gets lost in the
Rajasthan desert.

3. Puthimari and Manas are important tributaries of the Brahmaputra.

Which of the statements given above is/are correct?

73. HgcaqUl Udel § HIGY URdgel Hal & @Y H A ai@d e W
foar fifavT
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1. fHITqR 91 3% i IR TLUIC &l & T H HR T gl
2. YRd H FREOR, Ad@e 9d &7 T 38T ¢l

3. 3alg H Gy, 3CUIE H Teh 3EEI0T ¢

39T H @ FHiA-H/HA-H AT FE 31372

&7 & Rua a8 &2

76. el aTeifeieh WICIEYeST & & 3elar-37eT T R g &I fhiolt &
HIOT & YR R g2l T RIS & #97| F Hld-a qw P

(a) 3relFaifzar 3R ==
(b) @ 3R e

https://www.pygonline.com




(c) 3relFaifsar 3R e
(d) 3Teiaitsar 3R JsT

77. T8 YR &I g6 &ROT UishAT AT @90 & Heaedr gl 8?

(a)
(b) mmmm
(
(

78. frafaf@a Fual W AR ffFT :
1. §Sol HISS (Hel) G & Uael & Yarg (Yeat) &l qAST H Hgea ol &

2. g3l IS (Ae) ST SoTd § Fifeh $FAET IWT 3T T Y Jolell H
¥ ¢arT s aed gl &, fored ardig gRE=Ror giar g

39ed FYUAT & F9Y A, Aefaf@d 7 @ wla-ar @ g 2

a) At HUT T § 3R FUT 2, FYA 1 T TE AT B

b) St U HET &, Toh] U 2, HUA 1 T WE ATEAT G &
) HUA 1 HET &, Toh] YU 2 TTord B

d) FUT 1 TTed ¢, B HUT 2 T B

C

(
(
(
(

73. Consider the following statements regarding transportation functions
associated with important ports:

1. Singapore functions both as a port of call and an entrepot.
2. Karwar in India is an example of a naval port.
3. Dover in England is an example of an outport.

Which of the statements given above is/are correct?
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74. Cumulonimbus clouds develop from which among the following
clouds?

a) Cumulus congestus clouds

(
(b) Cumulus and Nimbostratus clouds
(¢) Cumulus and Altostratus clouds

(

d) Cirrocumulus clouds

75. Which of the following Ramsar Wetland sites is not situated in any
of the Union Territories of India?

a) Hokera Wetland

)
b) Point Calimere Wildlife and Bird Sanctuary
c) Tsomoriri Lake

)

(
(
(
(

d) Wular Lake

76. Eratosthenes, a Greek philosopher measured the Earth's
circumference based on the angle of Sun rays at two different points.

Which cities were they?
(a) Alexandria and Syene
(b) Syene and Troy

(c) Alexandria and Troy
(d)

d) Alexandria and Thebes
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77. Which kind of mass wasting processes are commonly associated

with creep?
(a) Fast speed with soil
(b) Slow speed with rock
(c) Slow speed with ice
(d)

d) Slow speed with soil

78. Consider the following statements:
1. Hadley cells are key to understanding the wind patterns of Earth.

2. Hadley cells are formed because the Equator is heated more strongly
by the Sun than other places, creating thermal circulations.

With regard to the statements given above, which of the following is

correct?

(a) Both the statements are correct and statement 2 is the correct
explanation of statement 1.

(b) Both the statements are correct, but statement 2 is not the correct
explanation of statement 1.

(c) Statement 1 is correct, but statement 2 is false.

(d) Statement 1 is false, but statement 2 is correct.

79. af@a 2« W TR fifaT

1. AGENRIT URI3TT 7 faIrel g g a1fet (gyres) r 31T gt &
ST -FSAT IO 9ae g (YeT) EaNT et @il g

2. YALIEY URTC FAgledal & i del & Ary-ary fd ST S 9iREH &
3R 3R AT ¢@ T 3T o S g

3RF HYAN & G H, Aefafad & @ Fla-ar @@ g 2

https://www.pygonline.com




a) alel YT T § IR FUF 2, FUF 1 HT TE TTEAT

b) St FUT HE &, Toh] U 2, FUA 1 T WE ATEAT FAGT &
FUT 1 S 8, g Ut 2 e B

d) FUT 1 el &, o] HUT 2 FET &

C

(@)
(b)
()
(d)

80. #IRA a=1 Tufd RUIC 2021 & 37aR, fAr=fafad & @ a1 I3
ITRAH a7 & & T & MY T H § v 7 87

(d) & QETaRTel FHE (W3 FT T Je [T a1¢ af e 3cRTel THS
@Y gredr g

82. rAf@a & O =ia-a1, Tafas 31987 &7 3eTgI0T AgT 87
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83. 3% SATeMAEA & FaY H Fefai@d & & FiA-avala-a q&r 8/e?
1. 3eh SATCNAET 3UERT Tole HABNT & 9rg 91T S gl

2. fa%@ & % & IHR & TR SATIHE & FB 3cPse 30 S
ST H A3C Goft, helldid & AA 31fe 31 Saramdr &

3. gLl W $T FoOH 3 AT 3 YR & Sarerddl g faaw &9 4,
Rl & U # AdmEr 3NoNT 2 gorar |

A feU aTT FHe 1 GANT F IR AT ¢

84. S-aAWN & TWIY H AFATATET #H A HlA-AT HYUT Tal el o7
(a) S-aE, P-atelt & g F el a1fd § e arelr awer gl

(b) TorEY ¥ & NI S-aET Haell 3 TSTATET JHeRUrE Sl ST3H &
T sa feamesrr gy &

(C) S-TRT hael 31 YTy & HEIH & T Hehell ¢ 3N Y2l & SET HIs
(RR) o HATEIH & Tl oTgl Hhall gl

(d) shuia=Tieial & Ig foiceny foeprem § fob g2l o1 a1ed %I g a1 el
glelT TTT|

79. Consider the following statements:

1. Ocean currents are dominated by huge surface gyres that are driven
by the global surface wind pattern.

2. Equatorial currents move cold water westward and then poleward
along the east coasts of continents.
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With regard to the statements given above, which of the following is
correct?

(a) Both the statements are correct and statement 2 is the correct
explanation of statement 1.

(b) Both the statements are correct, but statement 2 is not the correct
explanation of statement 1.

(c) Statement 1 is correct, but statement 2 is false.

(d) Statement 1 is false, but statement 2 is correct.

80. As per India State of Forest Report 2021, which one of the following
states is not among the top three with reference to maximum area under
forest?

(a) Arunachal Pradesh
(b) Chhattisgarh

(c) Madhya Pradesh

(

d) Maharashtra

81. How is strong pressure gradient represented on a weather map?

a) Closely spaced isobars

(a)

(b) Widely spaced isobars

(c) Closely spaced isobars at the periphery
(

d) A set of two widely spaced isobars followed by two closely spaced
isobars

82. Which one of the following is not an example of chemical
weathering?
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a) Acid action

)

b) Hydrolysis

c) Salt Crystal Growth
)

d) Oxidation

(
(
(
(

83. Which of the following statements regarding Arc Volcanoes is/are
correct?

1. Arc volcanoes are found near divergent plate boundaries.

2. Some of the world's classical examples of cone-shaped
stratovolcanoes, such as Mount Fuji in Japan, Mayon in the Philippines
are Arc volcanoes.

3. Some of the highest volcanoes on Earth are of the Arc type, notably
Nevado Ojos del Salado in the Chilean Andes.

Select the answer using the code given below :

(@) 2 only

(b) 2 and 3 only

(c) 1 and 3 only
(d) 1, 2 and 3

84. Which one of the following statements regarding S-waves is not
correct?

(a) S-waves are slower than P-waves.

(b) During an earthquake S-waves are less destructive to structures like
buildings and highway overpasses.

(c) S-waves can travel only through solids and cannot travel through the
Earth's outer core.
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(d) Seismologists have concluded that the Earth's outer core must be
liquid or fluid.

85. eIl # & lA-Al/HIT-8 T 39 Sf8eT o1 fFear g/eg?
1. BAE9G

2. fgHTrer g

3. TSTEATA

A f&U 91T e & JANT F 3R =AU ¢

86. Tohd WICATIIT AT S ‘HIfdell ATH T HER—Ih 7SI g7
a) INeTady

b) ot

(&

HETAGT
d) sradr

(@)
(b)
()
(d)

87. f@a =l W TR HifaT

1. SToRT 9HE: TSTEIT, 3T Tl 3R IR S A H 3T ST g,
Safe Wi f O 7Aer §9 @ Felesd WK affearg 7 6 arh 2

2. SToNT Yciell 3R 3l &lell HaT # 3T e 39T g, Sidish ool 3R
3Yel Frel AT W & v 3ugew g g

3RF HYAl & T A, Aefafad & @ Fla-ar @@ 82
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a) alel YT T § IR FUF 2, FUF 1 HT TE TTEAT

b) St FUT HE &, Toh] U 2, FUA 1 T WE ATEAT FAGT &
FUT 1 S 8, g Ut 2 e B

d) FUT 1 el &, o] HUT 2 FET &

(@)
(b)
()
(d)

88. Afaf@d & @ #la-¥ RE swRa & g &
1. gienfaik

2. AT S’aT

3. HAT (FIHAT)

4. FHIE

A f&U 91T e & JANT I 3H =AU ¢

89. TSl 14T & HaW H fArafaf@d # & *lA-avHla-8 wu7 F@ar 2/8?
1. Ut A& 398 S 7 3o afafafer & fov v Agcaqot At Bl
2. UISH Uelel ST w181 & Helel W &Ud gl

e feU aTT e N JANT A IR AT ¢
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90. '3iTThicdh’ HAgIGAd & TeH #H, rafaf@d # ¥ FlA-8 YT T g7
1. &her &Y TS & 7§ U9 & o 937 B

2. 3= | FEICHIT H Jelolr 7 FHRT AT 3cUT (elevation) FIH HfAH
gl

3. 3¢ 9, 30 AT &l Fad a1 AT gl

4. gfaolt AGRPR $I FeRIfA (IfFeeT gae 319dig) s8¢ IRT 3R ardAEd
feem & arfa e gl

A f&U 91T e & JANT F 3R =AU ¢

(a) shaer 1 3T 2

(b) shaer 1 3T 3

(c) 1,2 3R 3

(d) 2,3 3 4

85. Which of the following states is/are part of the Ganga Basin?
1. Chhattisgarh

2. Himachal Pradesh

3. Rajasthan

Select the answer using the code given below :

a) 1 only
b) 1 and 2 only

(@)
(b)
(c) 2 and 3 only
(d)

d 1, 2 and 3

86. Which peninsular river has a tributary named 'Kabini'?

(a) Godavari

https://www.pygonline.com




(b) Krishna
(c) Mahanadi
(d) Kaveri

87. Consider the following statements:

1. Bajra is predominantly grown in states like Rajasthan, Uttar Pradesh
and Gujarat, while Ragi is mainly cultivated in Karnataka and Tamil
Nadu.

2. Bajra grows well in sandy and shallow black soils, whereas red and
shallow black soil is suited for Ragi.

With regard to the statements given above, which of the following is
correct?

(a) Both the statements are correct and statement 2 is the correct
explanation of statement 1.

(b) Both the statements are correct, but statement 2 is not the correct
explanation of statement 1.

(c) Statement 1 is correct, but statement 2 is false.

(d) Statement 1 is false, but statement 2 is correct.

88. Which of the following peaks are situated in India?
1. Dhaulagiri

2. Namcha Barwa

3. Kamet

4. Makalu

Select the answer using the code given below :

(@) 1, 2 and 3
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(b) 1 and 3 only
(c) 2 and 3 only
(d) 2 and 4 only

89. Which of the following statements regarding River Rhine is/are
correct?

1. Rhine River is an important pathway for industrial activity in northern
Germany.

2. Port of Rotterdam is located at the mouth of the Rhine River.
Select the answer using the code given below:

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

90. With reference to the continent of 'Antarctica’ which of the following
statements are correct?

1. It is larger than Europe in terms of area.

2. It has the highest average elevation as compared to all other
continents. https://www.pygonline.com

3. Mt. Ross is the highest peak of this continent.

4. Waters of the Southern Ocean (West Wind Drift) move in an
anticlockwise direction around it.

Select the answer using the code given below :
(@) 1 and 2 only
(b) 1 and 3 only
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(c) 1, 2 and 3
(d) 2, 3 and 4

91. AFIfaf@d syl W g Hifav :

1. T& T dFer @3¢ (Vostro account) VAT TTAT BT § ST Teh ARG
dh forell fadel S & T ee] #HaT (JU0) & WA § ifh e o
AT dfhaT TAQIT YT - Th|

2. §YAT Uelcd, 31T 9id egfad 3irad §ar Nidgd, §Ag-qa (3ramH )
A 1 FUfd A fGaUIvor & A T U Re ¥ el 87 A g1 Fifeh
HRA H 9 S aTed 3f8Rier §1AT 3cUTe sad @ S[3 (savings-linked) &1d &
fS=T# gRam &1 geh agd HA g ¢

3T & A FlA-A/EIA-H HUT FE /8 ?

92. AFafaf@a Ut W 9 fifau:

1. &R caRT U S arel ¥ X & HIdReEd g &l 3T W, IRART &
fohT St arer T X & AfARFA 3ROT i Tt H FH TG TSl I HHTTAT

gl

2. R ¢an fhu S arel IX & ATARTFT I &1 3T W HF JHT Isol
ST FATT &, ARG $HF AT U H YT H AR AL A A g

3T & A FlA-F/IA-T HYT FET /8 ?
(a) hadl 1
(b) FaeT 2
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(c) 1 3R 2 a=t
(dyaTdar1, T8 2

93. &reiehlfeleh HA-IcHoleT T 0TI 7 IReTeTd &

1. Shared 49 & =g, fasty, guroly als & 3iavor
2. S9-SYr & 39T H el

3. Sferaryg Heelrd AT e

4, M1 SMUst & ATEIA F FURONT fashra &1 faaaryor

A f&U 91T e & JANT F 3R =AU ¢

95. fohdll Gor & ITclleT HJolel o Yollatd Wid H FAeAfali@d & & a1 anfae
oTel 87

(a) Tacelr uczer faaer

(b) afOIfSTs 34U

(c) 32T 7e

(d)

digd delddl
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96. EIHR EART B IcATANR HRA TiolaAT TEIT Fl o

1. Tefr 39 & sIRa 1 R_FATT sead 3R BT & Je= &
2. Te] 3cUiest & folv fagelr fAaer & dicdmes ¢ A
aﬁﬁrmiﬁﬂmeﬁm?m:

(a) et

(b) Saer

(c) 1 3R 2 g=t
(dyaTdar1, T8 2

91. Consider the following statements:

1. A rupee Vostro account is an account that an Indian bank holds for a
foreign bank in the domestic currency (rupee) to enable domestic banks
to provide international banking services.

2. Insurance density, i.e., average insurance premium per capita does
not fully capture the financing gap in the event of a premature death
because most of the insurance products sold in India are savings-linked
with a small component of protection.

Which of the statements given above is/are correct?

a) 1 only

)

b) 2 only

c) Both 1 and 2
)

d

(
(
(
(d) Neither 1 nor 2

92. Consider the following statements:

1. An additional spending by the Government of ¥X is likely to have less
impact on income than an additional transfer of ¥X to households.
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2. An additional spending by the Government of X is likely to have less
impact on income if it is not accompanied by an expansion in money

supply.

Which of the statements given above is/are correct?
(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

93. Long-Term Low Emissions Development Strategy envisions:

1. a transition from fossil fuels in a just, smooth, sustainable manner.
2. increased use of bio-fuels.

3. climate resistant urban development.

4. financing of sustainable development through Green Bonds.

Select the answer using the code given below :

a) 1 and 2 only
b) 1, 2 and 3

(@)
(b)
(c) 2 and 4 only
(d) 1, 3 and 4

94. Which one among the following was the focus of the Twelfth Five-
Year Plan?

a) Sustainable and Inclusive Growth

(@)
(b) Social Justice and Equality
(c) Food, Work and Productivity
(d)

d) Attainment of Self-reliance
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95. Which of the following is not included in the Capital Account of the
Balance of Payments of a country?

a) Foreign Direct Investment

)
b) Commercial Borrowing
c) Invisibles

)

(
(
(
(d) External Assistance

96. The Atmanirbhar Bharat Scheme announced by the Government
helps in:

1. Enhancing India's manufacturing capabilities and exports across the

industries

2. Incentivizing foreign investments for domestic production
Select the answer using the code given below :

a) 1 only
b) 2 only
c) Both 1 and 2
)

(
(
(
(d) Neither 1 nor 2

97. qut gfawae & frell ®f & deret & fav rfaf@a # @ Fia-ar s
el el 87

(a) 3reural® H SR Hed AT IRadl oeTd & 38w AT s gler aifgv|
(b) SOTR Hed HATT deTd & NI} gl AT

(c) EraTaf® & SR H{ed 3iEd dFTd & ST} giell 1T

(d) HJelThRT 3culee (3M3eYe) W AT el edT gl

o)
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98. ¥R & faa 3maer &1 BN & HTER AT & F Fia-ar w2
TSl & Y AST U S aTel e Jof H AT g0 87

99. fAFifaf@d & ¥ *id-a1 3MAH AT [aehrd Gasieh A afAer ¢ 82
(a) ST=H & THY Slided YR (Adsid R SfaeT <)
(b) Fpelr AT & 3T a¥

(c) Tpell TAGT & 3dfeTT av

(d) AT X

100. & AT o rfegaear # dhad & TAT a&q¢ X 3R Y §1 I
aEJ X I HIAT Tedl &, dl THAEATATET H T HiT-A1 HUT HET Gran?

a) @& X & AN gedr § AR Y & Aler AR gl
b) a&g X T AT gecd § 3R Y & Alr ged gl
gE] X &I Al "ot § AR Y & Aler fAfRed gl
d) g&q X &I AT Feol & 3N Y T Aler gedr g

(@)
(b)
()
(d)

101. Iy Feg Fasiss 2021 7 100 & Fg 2022 & 110 3R 2023 # 132
g I, ar AeErehfa B €
(a) 10%

b) 32%

)
(b)

(c) 20%

(d) UTRa A& T a1 Fhar
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102. IXET @M1 & FEURT & oT TR af@fa dr sRvomer #§ Feafaf@d
" O Thee AT har a=r ar?

1. U TeT Hewh

2. 3MaeTSH IR-We a3t & v eag &1 T AFRT TR
3. 3 A-wrey FEG3T & v FagrerT & @ @uiRa =@
A feU AT FHe H FANT N IR AT ¢

103. A=faf@a & O sia-ar, NIIFL (& [ 3R 3ad@esr sy
fafACs) arT Jafd Teh IV gl g2

a) AET FIV (Master Fund)

b) @ISl &I &Y (Fund of Funds)

) T0TEIfde 3198 HIY (Strategic Opportunities Fund)
d) dfRas foaer ®IY (Global Investment Fund)

C

(
(
(
(

104. 9f3d e 3UTEATT TSI HedT0T Y T LA Aeafaf@d & &
fore |Hg 1 HEIAT e dI T A FHr 7S A2

|

a

b) ¥

(&

ECCIE]
d) Jeur #H el dfaAsr T TAyard (War Widows)

S

(@)
(b)
()
(d)
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105. [T @d & ¥ Fg Ac # ARG T 99 PR & JIEd cqT FHT 31
feear afFAfaa § 2

97. Which one of the following statements for a firm's equilibrium in
Perfect Competition is not correct?

(@) The market price must be greater or equal to average variable cost
in the short run.

(b) The market price must be equal to marginal cost.
(c) The market price must be equal to average cost in the long run.

(d) The marginal cost decreases at the equilibrium output.

98. Which one of the following taxes is not included in the Central Pool
to be shared with the States according to the recommendations of

Finance Commission of India?
(a) Personal Income Tax
(b) Corporate Profit Tax
(c) Surcharge and Cess
(d) Excise Duties

99. Which one of the following dimensions is not included in Human
Development Index?

(a) Life Expectancy at birth
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(b) Mean years of schooling
(c) Expected years of schooling

(d) Mortality rate

100. Suppose there are only two normal goods in the economy, X and
Y. If price of good X increases, which would be the correct statement
from below?

(a) Demand for good X decreases and demand for Y is indeterminate.
(b) Demand for good X decreases and demand for Y decreases.

(c) Demand for good X increases and demand for Y is indeterminate.
(

d) Demand for good X increases and demand for Y decreases.

101. If the price index increased from 100 in 2021 to 110 in 2022 to

132 in 2023, then the rate of inflation is:
a) 10%
b) 32%
c) 20%

d) Cannot be determined

(@)
(b)
()
(d)

102. The Rangarajan Committee methodology for determining the poverty
line incorporated which of the following?

1. A food component

2. A normative level of expenditure for essential non-food items

3. A behaviourally determined expenditure for other non-food items
Select the answer using the code given below :

(@) 1 and 2 only
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(b) 2 and 3 only
(c) 1, 2 and 3
(d) 1 and 3 only

103. Which one of the following is not a fund managed by NIIFL
(National Investment and Infrastructure Fund Limited)?

(a) Master Fund

(b) Fund of Funds

(c) Strategic Opportunities Fund
(

d) Global Investment Fund

104. Pandit Deendayal Upadhyay National Welfare Fund was established

with the view to help which one of the following groups?
(a) Medical Practitioners
(b) Farmers

(c) Sportspersons
(d) War Widows

105. Which one among the following items comprises the major portion
of revenue expenditure of the Union Government of India?

a) Salaries

(@)

(b) Interest Payments

(¢) Road Transport and Highways
(d)

d) Defence Services
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106. 81T &1 & 9RT &1 AfRer ssfiea &7 o ssfAea thr &7 IRy,
2024 Shar| eafaf@a & 3 Hia-Id f@arsr & a1 {ear a8t 02

107. #RA Rfecar geufad & wafd Hefaf@d # & @ld-a1 YT |gr
el 87

(a) Facy gorrel, Rfsrcar $r v AT geufd gl

(b) AR & AT &7 & Far-Rear vafaa &1

(c) T Raferear veufa @1 3y e & qus wX faar gl

(d) FH Hfgdr 3mgde T T FHY A ¢

108. ¥IRd WHR HI Teh Ygal foisar (NISHTHA) & dau H faefaf@a & &
HIeT-HT HYUeT TET 87

(a) & T YRNETUT AlgY ¢ T8 grel &1 7 fAfder daet & felw LBSNAA H
g forar arar gl

(b) I T TreTR-ufIeTor i g

(c) Fg ool qio #H AT Wwel & v UfIefor &rdsa ¢ drfes 38 dar &
gfa gcafasar & sidfafase fmar a1 @)

(d) Ig <k T FiIaTe @Rt #id Haifad dde-aeedr & fov ddAead:
(routinely) 3TAfST & ST aTell HIRJATAT gl

109. BRICS g=if ' UNDP aRT ST AAd fderd ROE, 2023-24 #H 3Ahr
& & IR A7 H cgareyd FifAv
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1. AT
. ARG

. STaitel
. GfgyoT 3TshIeAr
A feU AT FHe N GANT F IR AT ¢

2
3. &H
4
3

(@) 2, 5,4,1,3
(b) 2, 4, 5, 3, 1
(c) 5,4, 2, 3, 1
(d) 4, 5,2, 1,3

110. %R & EFTA, ST fo 9R geif &1 U &1 @og &, & @Y Teh UR
3R 3feF sl AR (TEPA) W g&dieR fhar g1 Aeifaf@d # & &la-
AT U 3T WA 1 TET A8 &2

%ﬁ

a

\J

ok

b

:

C

(a) &g
(b)

() ’
(d) g3

111, AfAf@d & @ Sla-a1 ¢ &7 3R oot Sl & Ty Tog-a:g dar
QIS AT 87
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112. ST, 2024 # AR & USA & | Teh FHAIAT A0 (MoU) TR Eaet
forar § s ford @ deh TR Aic T e 3cHole giife aa & T
AT T &l AT TR T ?

2030

(a)

(b) 2040
(c) 2050

(d) 2070

113. AT @aT & T Hia-ar &, PM-JANMAN 3T & T99 H T8 g7

(a) Tg HAJGIATAT I fAdTdeT HTERAT UGl el & ol HART TSR dT Th
AT &

(b) TE TERICAT T HEATIT & el F Alehdd I ee Aol & AT AR
TIFR HI Teh Irofell gl

(C) TE AR WA A STASTAT FHT F Tcdeh ST Hl oreffead e
& [T IRT WER FT T ST ¢

(d) I IS &F H Yardl FIANRT Fl HTfedd Flad & T ARG TR
$I T ST gl

106. India's women's badminton team recently won the Badminton Asia
Team Championship, 2024. Who among the following players was not a
part of the team?

(a) P.V. Sindhu

)
(b) Treesa Jolly

(c) Anmol Kharb
(d) Saina Nehwal
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107. Which of the following statements related to Indian medicine system
is not correct?

(@) The Siddha system is a holistic system of medicine.
(b) Sowa-Rigpa has been in practice in the Himalayan regions of India.

(¢) Unani system of medicine has been dissociated from the Ministry of
Ayush.

(d) Sushruta Samhita is a major source of Ayurveda.

108. Which one of the following statements is correct about NISHTHA, a
Government of India initiative?

(a) It is a training module recently introduced in LBSNAA for civil
servants. https://www.pygonline.com

(b) It is a teacher-training programme.

(c) It is a training programme for the new recruits in Delhi Police to
inculcate integrity of service among them.

(d) It is a workshop for newly elected Members of Parliament organized
routinely by the Lok Sabha Secretariat.

109. Arrange the BRICS countries in ascending order of their rank in the
Human Development Report 2023-24, released by the UNDP:

1. China
2. India

3. Russia

4. Brazil

5. South Africa

Select the answer using the code given below :
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2,5 4,1, 3
2,4,5, 3,1
5 4, 2, 3,1
4,5, 2,1, 3

a
b

(a)
(b)
()
(d)

d

110. India has signed a Trade and Economic Partnership Agreement
(TEPA) with EFTA, which is a regional group consisting of four countries.
Which one of the following countries is not a member of this group?

(a) Switzerland

(b) Norway

(c) Iceland

(d) England

111. Which one of the following countries shares the territorial boundary
with both Russia and Ukraine?

a) Estonia

c) Belarus

d

(a)
(b) Latvia
(c)
(d) Poland

112. In June 2024, India signed a Memorandum of Understanding (MoU)
with USA for supporting Indian Railways to achieve Mission Net Zero
Carbon Emission by the year:

a) 2030

(a)

(b) 2040
(c) 2050
(d)

d) 2070
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113. Which one of the following statements is correct about the PM-
JANMAN scheme?

(@) It is a scheme of the Government of India to impart electoral literacy
to voters.

(b) It is a scheme of the Government of India for deepening of
democracy in the functioning of Panchayati Raj institutions.

(c) It is a scheme of the Government of India for benefitting every
member of the tribal community from Government schemes.

(d) It is a scheme of the Government of India for benefitting migrants
workers in the unorganized sector.

114. Af@a & O Si9-91 FUT TJar el 87

(a) SAGAR-SETU T& HiaIsel U9 g, ToreehT 36837 #RIER & FIAT (S
30T 591 fIsi®) & GUR &L g

b) R WNR T 3882 YT FHIel 3cHold & 8T I YT el g

(C) PR HYA HET 3G Hl Fald o TolT R TR & Uded, did
aRagel 3R STEAT FHATCT GaRT IR fRar a=r we fAereT gl

(d) IEET VAT AR HI Ugell HRASET FHal g gl

115. ISRO & 3Usy 31T 7 Ig Yehe fham &6 OUier g RATET el &
AT H 178% A gefd g5 &1 Aeafafaa & @ fha Tsa/@y o &9 A
g 3he foud g7

(a) ST AR &R

(b) efeare
(c)%ﬂrﬂ?{ﬁ%r
(d) FTRIES
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116. fAw=fai@d & @ HT-AvHT-8 T §-RAer FAsidar, NLFT (SD)
gHslar 3R TIPRA & O Bueir gasttar & anfaa g/&82

117. Aeafaf@a # @ 8 A4 o gadss a7 (Best Picture) Aot 7 96dT
THSH REHR 2024 SicT?

118. AF=Ifaf@a H O FE 3T9dTd # o= & v 9Ra T gger gAT
39S (OPD) 9T &r a15?

a) AlIMS, 5 feeelr

b) PGIMER, wigig

c) KGMU, @3
)

(
(
(
(d) 3R TA TA (RML) 3E9drdd, =5 ool

119, '3ETATH aregerel’ & Hay # Arafaf@a & & Sla-ar sy a@gr 7860
g7

(a) T§ HRCAIT AT GaRT STATdRd Teh BT Heh HIUC gl

(b) TaM@IAAH & AQAT SIHATS H STFT STATIaI0T fhaT I
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(c) ¥RA PR SaRT 38 ¥ 2006 #H Al & AT gl (Adel BIE) I
fear arar ar 3R 7S 2023 # 5@ ARAT AGAT F aag = fIr =

(d) AT ST § o6 g9 39T dag eREr & forw fhar sroe|

120. COP28 # gU 3ifa# Txsild # fAefaf@a # & Hia-a1 Hehed, a¥
2050 T o e N e I o & HeeH §7?

(a) STTaTRA YT &I TUTECY FHICT
(b) FYF (FH D) A H Feldr
(c) 3egdheled W dRgw &g

(

d) STerary HHcUTT

114. Which of the following statements is not correct?

(a) SAGAR-SETU is a mobile app, which aims to improve the Ease of
Doing Business.

(b) Harit Sagar aims at achieving Zero Carbon Emission Goal.

(c) Sagar Manthan is a mission launched by Ministry of Ports, Shipping
and Waterways, Government of India, to increase fish production.

(d) Costa Serena is the first international cruise liner in India.

115. ISRO, in its studies, has revealed that there is a 178% increase in
the size of the Ghepang Ghat Glacial Lake. In which of the following
States/UTs is this lake located?

a) Jammu & Kashmir

b) Ladakh

(a)
(b)
(c) Himachal Pradesh
(d)

d) Uttarakhand
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116. Which of the following State/s is/are common to Bru-Reang

Agreement, NLFT (SD) Agreement and Tripartite Agreement with TIPRA?
(a) Tripura

(b) Assam and Tripura
(c) Tripura and Mizoram
(d) Manipur and Mizoram

117. Which of the following movies won the 96™ Academy Award 2024

in the Best Picture category?
(a) Anatomy of a Fall
(b) Oppenheimer

(c) Barbie
(

d) Killers of the Flower Moon

118. India's first dedicated OPD for the Transgenders was opened at

which one among the following hospitals?
a) AlIMS, New Delhi

b) PGIMER, Chandigarh

c) KGMU, Lucknow
)

(
(
(
(

d) RML Hospital, New Delhi

119. Which one of the following statements about 'INS Tarmugli' is not
correct?

(a) It is a fast attack craft commissioned by the Indian Navy.

(b) It was commissioned at Naval Dockyard, Visakhapatnam.
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(c) It was given by the Government of India to Sri Lankan Naval Force
in 2006 and returned to the Indian Navy in May 2023.

(d) It is supposed to be used for coastal surveillance.

120. Which one of the following resolutions in the final agreement
reached at COP28 is associated with the target of achieving 'Net Zero
by 2050'?

a) Fossil fuel phase-out
b) Methane emission cuts

c) Global goal on adaptation

(
(
(
(

d) Climate resilience
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